Addition

compensation strategy (another way to add)

The compensation strategy for addition is useful when one of the numbers
ends in 8 or 9. One number is rounded up to the next 10, the addition is carried
out and then the answer is adjusted to compensate for the original change.

For example: 52 + 39

Think 52 +40 =92
BUT because | added 1 to 39 to

round up to 40 | need to subtract
1 from my answer.

Therefore: 52 + (40-1) =91

This can also be shown on the empty number line like this:
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This is a type of jump strategy.

ll“l"i For more homework help, tips and info sheets go to www.schoolatoz.com.au
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